EARAROBEEIERT — 2 N— IBISH —F

20165 7A3H (B) 1ME#E6H

IR H+>%3mtEt 500ARAT 4 [HETE] T2 ‘ [Xfz] W ‘ [3eEmsh]l  — | (&) 2000M &
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N & EREH :01. -9-9- . . FHEES (B
i S\ FILT=T 0 it 3 o 2((2)7 9-9-9-7 353|932 | 2 (4352) L sl
v nyarhzz B:TVTF4Hh)—F J—HrTy—LA
44— = B 4 | HARMR— 2:01.8 5-5-6-5 |35.6| 92.2 | 4 420 | BEFNE ()
2 2| VA RZH-F 55.0 (1/2) (+12) | BERSH LT
L:Tv P JVRry b BTy a—h—3 J—HrTr—LA
. ey P 01 _ , DEERE (%58)
31l ELY YV it 5 A;_o 2(70]5? 4-2-3-2 | 35.9] 92.2 | 10 (4514) E]Eﬂﬁﬁ(
ey )gdyR BiFLZ4071— WD
7 = s 4 | BEREN 2:01.9 1-1-1-1 |36.2| 91.2 | 1 478 | THEF (FH)
4|8l12| V7774 55.0 (5€) (ha) | BNEEF LT 12 TZ (#)
RN—E>Sv— B:T7—ZXrFz7T J =% Ty — I
. EHEZ :01. —11-2- . . FREFREE (BXR)
5 4| FVICFT—92 it 3 N 2(;)1@9 12-11-2-2 | 36.1| 91.2 | 3 ig? AEEE &%)
R:T—0T4—X B:AYUIL b Fv—L BHT7— L
= B &) (LD ZHER :02. 56— X . REREX (EXR)
6 g|TI—xLYE it 3 =0 2(30/24)0 5-56-5 |35.9]90.2 | 5 (4_83 EERR BR
LIV NATA—h— B:L—2YRU—L SLagse
. IRHEE : -10-9- AARES (FR)
70719 | 77Uy kRU= it 4 e 2(7025; 10-10-9-9 | 35.6 | 89.1 | 6 (4_020) A gwupy .
L:XFATd=IK B: 714y TN — () #Aa—-KL—va>aE77r
;5 = B4 | FRHER 2:02.3 3-2-32 |36.4| 87.3 | 9 492 | EBESES ()
8|56 |®FTINTZTT— 55.0 A 1/4) () | (B EvILyET7—L
Y LIMN—F B:T7—XT7AH—F JA—Y—Tp—L
) B4 | JIERE 2:02.4 7-8-9-9 [35.9| 86.1 | 7 480 | EHMF (ER)
91811 W7o 55.0 (3/4) (+2) (#%) A—KK—2057
v NnNyah7r By h—~<LA TATAT7—L1
S, # 4 | AT 2:03.0 10-11-12-12| 36.4 | 80.4 | 8 502 |/NE—B (EH)
EH 3| Frl> _ 8.0 (31/2) o) |EEBE
RN—ErTr— B:IUHR-—> J—HrIr—L
; B4 | PIEEEEX 2:03.2 7-7-8-11 | 36.9| 78.9 | 12 | 388 |mtEmZ (BR)
17|10/ @Y 7H ~53.0 (/2 () |EEE
Ln—ErIv— BIUKRLT7—h HET77—L
. RPN ARIBHIIA : 03— 1HiE (Es)
12l5] 5| @~ PTEFL R it 4 Al 2(.10/32.)3 2-2-3-7 |37.3| 78.2 | 11 (4+124) L
R:xF1zgr—2 B:v4—->vVxy b HBITr—L
@ 71 L
) 48.1-36.0
NA>&4 L | 12.5-10.7-11.6-13.0-13.2-12.6-12.1-12.0-11.8-12.2
® I —F—EBIERL
13—F— 12,5,6,1(2,8)-(10,11)-7(3,9)4
2= = 12(1,5,6) (2,8)10,11,7,9(3,4)
Gol=5r= (x12,4) (1,5,6) (2,8)10(11,7,9)3
40—F— 12(1,4,6) (2,8) (5,7) (11,9)10,3
[ N3
BB 7 420M 714K 2-7 680M e E 2-6 1,510 JEHE 1-2-7 34,110
8 B 7 1909 1-7 4,750 B E 2-7 1,980 B 7-2-1 108,660
2 280/ 1-2 5210 | | B H 7-2 3,310
1 1,220

ABICOVWTRDTEEERROODE. TR LIV,




